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Topic:- General Knowledge and Logical Knowledge

1)
Complete the series choosing the missing letter/s: / =cd HaE/HaT &l ECET
AT & G0 it

AZ DW |GT
BY |EV ?
CX FU IR

1. AD
2. KT
3.1

4. HS

Correct Answer :-
« HS

2) If MEDICINE is coded EOJDJEFM, then how is COMPUTER coded? / !Tfa' MEDICINE &1

EOJDJEFM ¥ SIS far 5Imar 8, @ COMPUTER &1 &9 #Ife$d forar smawme?
1. RFUVQNPC
2. REUVNQPC
3. REVUQNPC

4. REVUNQPC

Correct Answer :-

« RFUVQNPC



3) How many different 5 digit numbers can be formed from the digits 9, 0, 4, 1, 6, so that '0' is in the

tentgl;rplace?/aiﬂ";f& 0,4,1, G,QSWWWW%'@W%M'O'R@%W
REI?

1.24
2.84
3. 120

4. 48

Correct Answer :-

. 24

4) Harish wants to meet his friend Farhan. He travels 10 km north and then turns right and travels 2 km.
He then goes east for 5 km before reaching Farhan's home. How many km does he travel? /BﬂQT 3
i wee A e arear 81 98 10 . SR &Y 3R Tdar € 3 R T 3k geoe 2 farefl.
g%l IS 91¢ 98 BREM & TR UgTH I Ugd 5 frtl. [Ra &t iR gaar 81 98 o fva

. dell?

1. 12 km / 12 T,
2. 17 km / 17 b,
3.10 km / 10 fobel.
4. 6 km / 6 fop .

Correct Answer :-

« 17 km /17 oI,

5) In throwing of a dice, the probability of getting an even number is / Th Ui b ﬁ, Uh IH
T@AT 3T BT HHTIAT = & R gt &-

hJ|l—l

Lo | bt

1
4
a,

Correct Answer :-



6) In which state is the Digboi Oil Refinery located? / fPaIsad ﬁ"'@g ad MYF (ﬁTFET‘lﬂ)
HRET FRIT 82

1. Sikkim / RifgwH
2. Uttar Pradesh / 3T} u%”zr
3. Bihar / [§8R

4, Assam / IH

Correct Answer :-

e Assam/ 3{{H

7) Who is the Deputy Speaker of the Lok Sabha? / NS U BT SUTHE Cac % ?
1. Sumitra Mahajan / ﬁ&ﬁﬂ HelolH

2. Thambi Durai / T%ll @Tﬁf

3. Mukhtar Abbas Naqvi / JR&dR 3fes Fadt

4.PJ Kurien/tﬁﬁfm

Correct Answer :-

« Thambi Durai / T g3

8) Who is the Union Minister for Agriculture and Farmers Welfare? / ?’ﬁ 3R fFa e &

Firg wft B 2

1. Chaudhary Birender Singh / e = g
2. Thaawar Chand Gehlot / YTdR °q TI_ETﬁH

3. Radha Mohan Singh / XTYT Ing:f ﬁl_s'

4, Harsimrat Kaur Badal / _EIT@FQT‘T ﬁ? dlgd

Correct Answer :-

» Radha Mohan Singh / XTI Ing:f Rig

9) How many Gold Medals did India win at the 12" South Asian Games held in February 2016? /

BRad! 2016 H AN 129 <féror TRmaTE e # yRd A fra @l uge ofia &2

1. 200



2. 156
3. 188

4. 96

Correct Answer :-

10) Which award is given for excellence in sports? / LGk Spydl & ferg DI AT YIIPIR foan
ST 82

1. Arjuna/ \?"IT{i:l
2. None of these / S':I'Ef I ﬁé '_‘Igbf
3. Jnanpith / IFUS

4. Jamnalal Bajaj / STHATCTT &SIl

Correct Answer :-

e Arjuna/ G‘TG\I:[

11) Which cricketer won the International Cricketer of the Year at the CEAT Cricket Rating

Av%r;iiﬂ%MW/WWf@a@ﬁWWiﬁﬂwm 2017 ¥ SR fivdex oife
[ ?

1. Virat Kohli / faxTe ﬁ%?ﬂ
2. R Ashwin / 3R 34T
3. Shikhar Dhawan / TRRGR ¥a

4. MS Dhoni / THTH it

Correct Answer :-
e R Ashwin /3R &Ff%:f

12) Which of the following projects has won the Aga Khan Award for Architecture? Faifead s

o ufae=T A argeen (snffeamR) & T wew S W< REPR oftar @ 2
1. Apni Zameen, Apni Chhat / 3T ST, SruHt Bd

2. Aranya Community Housing, Indore / 30 Wﬂ IR, ECAN

3. MP Housing Guarantee Scheme / QTITﬂ B'IBﬁFT RS o

4. Atal Ashraya Yogana / 3¢l T3 TIorT

Correct Answer :-

o Aranya Community Housing, Indore / 3{RUJ ?@ﬁ?ﬁ E'K*Iﬁm, EE:R



13) Which State has been ranked first in the Public Affairs Index- 2017? / &g =g Cal '\‘Tﬁﬁlﬁﬂi
ATl & GADIB-2017 B TIH I fear man g2

1. Tamil Nadu / alila:ug
2. Karnataka / Hlch
3. Kerala/m

4. Maharashtra / HeIRTY
Correct Answer :-

« Kerala/®d

14) Banjar River Project is in the Basin. / §9IR A1 Ufaie=T . IR | %I
1. Narmada / THGT

2. Yamuna / HAT

3. Chambal / I

4. Ganga / EIli|

Correct Answer :-

e Narmada/ -_-FTET

15) Where is Nek Chand Rock Garden located? / Teig 31 TS HET 1Ud 82
1. Chandigarh / Eié“l@

2. Jamshedpur / GITI'-‘E]EHT

3. Ranchi / It

4. Darjeeling / &I SIferT

Correct Answer :-

e Chandigarh / EEiL [

16) New and Renewable Energy Department of the Madhya Pradesh government was established in

the year ./ A USRT WRPR BT 7411 T 741wy Sell fAHnT a9 # wyfud fear
T T

1. 2015
2. 2016

3.2010



4.2014

Correct Answer :-

e 2010

17) Vishwamitra Award is given to? / ICELEE] YIIPIR foa fear Smar 82
1. Physical trainers / IR WRI&H

2. Players / f@?ﬂ@of

3. Sports Administrators / m PRURSER

4, Coaches / W

Correct Answer :-

« Coaches /BT

18) The term ‘The Ashes’ is associated with: / Xeq '@W‘ 3'\“@ et %:
1. Cricket / fohope

2. Hockey / HEdl

3. Football / pedld
4. Swimming / T

Correct Answer :-

e Cricket/ ﬁ)ﬁv_c'

19) India’s first underwater rail tunnel connects to ./ YIRd &t 'qgﬁ Tt & 1 B
I G, Ca| q Ssd g1

1. Chennai, Vishakapatnam / %lsrs‘, o=
2. Navi Mumbai, Mumbai / dl Haé, aa's‘

3. Howrah, Kolkata / BTdS], BB

4, Allahabad, Lucknow / Sdllgldlq, (A3

Correct Answer :-

« Howrah, Kolkata / BTdST, BRIl

20) Who was the first Indian to win Nobel Prize? / GG YRIEDR CIGECI Wﬁ HRAT Cac| ) b
1. Rabindranath Tagore / YAI1Y TR



2. C.V. Raman / 91 df 399
3. Amartya Sen / 3 o
4. Kailash Satyarthi / Sarey geanff

Correct Answer :-

« Rabindranath Tagore / XdI=&1Y TR

21) Who was elected the 14™ President of India? / WRd T 147 rgufar ford g1 a2
1. Pranab Mukherjee / YUl %\_l‘ﬁ

2. Venkaiah Naidu / 331 TG

3. Ram NathKovind / JHTY Hifdg

4. Meira Kumar / HRT $HR

Correct Answer :-

e Ram NathKovind / JTHATY ﬁﬁ—c"

22) Who was the chief guest at India's 68th Republic Day parade in 2017? /2017 A HRd Bt 681

Ture feaw uvs & g@r Sifafy e 42

1. Barack Obama / SRTd 3&THT

2. Shinzo Abe / RIS 31

3. Sheik Mohammed bin Salman / ] AigW¢ fo- Tad™

4, Sheik Mohammed bin Zayed Al Nahyan / G AgWE foa Wi 3reht ArgaH

Correct Answer :-

o Sheik Mohammed bin Zayed Al Nahyan / G HigHG fo a_d NGRS

23) Ustaad Bismillah Khan is associated with: / 3T ﬁﬁm ECIG| Eﬂ'\q Tefera %
1. Sitar / RIAR

2. Shehnai / QIE:HE‘

3. Tabla / dddT

4, Sarod/ﬂﬂa

Correct Answer :-

e Shehnai / QIE:HE‘



24) is the largest ever Kolkata-class destroyer ship to be built in India. / HRd

F I T R TST AP TAT-FT AT 9o 2 |
1. INS Kolkata / 3TSTGH HIcAbTdl

2. INS Vikrant / 3TSTALY faehid

3. INS Vikramaditya / Gi'lg'Q:ng [EEZEIER

4, INS Chennai / \3‘“_5?@@ %|T>|_5f

Correct Answer :-

e INS Chennai / m €|$rs°

25) Complete the series choosing the missing number: / YU GBI ABR Y@l G| QR

Fifore:
2,4,8,16,32,
1. 62

2.70

3. 64

4. 60

Correct Answer :-

26) Complete the series choosing the missing number: / T JWT DR AT BT [T

HIfere:

19,2, 38,3,114,4,
1,228

2,352

3. 256

4. 456

Correct Answer :-
e« 456

27) Complete the series choosing the missing number: / T IS DR YT BT [T

Hﬂﬁ'll{:
2,35 ;17,33

1.352



2. 256
3.9

4. 456

Correct Answer :-

28) Select the option that is true about the Statements and Conclusions given:

Statements:
All trains are shrimps
Some shrimps are cameras

Conclusions:
I. Some trains are cameras
I1. Some cameras are trains

/ 39 fareu &1 99+ Fifore Sife few e Fy=1 ik fewul & IR & 98 8:
DY:
gt e fere &

T} fere T &
o

L PO ST PHIE
II. $O $UR A8

1. only conclusion Il follows / FHad sy || WW%

2. only conclusion | follows / Had (spY | G@TUTWT%

3. neither conclusion | nor conclusion Il follows / 7 &1 F15BY | 3R 71 &1 fsh 11 mm%
4, both conclusion | and Il follows /ﬁ'@ﬂfl 3ﬁ? Il a:ﬁ WW%

Correct Answer :-

« neither conclusion I nor conclusion Il follows / 7 &1 fs | 3R =1 81 fFeh e 11 TR0 v §

29) Select the option that is true about the Statements and Conclusions given:

Statements:
Some pigs are geese
Some geese are oranges

Conclusions:
I. Some geese are pigs
I1. Some oranges are geese



/ 39 ey &1 9+ FHifore Sife fow e Fy=1 ik fAehpul & IR & 98 8:
DY:

PO YR M &

e

IW‘ﬂTﬂﬁ&R%
II. $0 GR N &

1. only conclusion Il follows / FHad sy || &aﬂwm%

2. only conclusion | follows / Had sy | Wm%

3. neither conclusion | nor conclusion Il follows /:fébfﬁ'@lﬂfl Gﬁ??ﬁﬁmﬂf I WW%
4. both conclusion I and Il follows /ﬁ'ﬁ@lﬂfl AR ol mm%

Correct Answer :-

e both conclusion | and Il follows /ﬁWﬁfl GﬁT Il a:ﬁ GF;NTUTW%

30) Select the option that is true about the Statements and Conclusions given:

Statements:
Some stones are buckets
All knocks are stones

Conclusions:
I. Some buckets are stones
I1I. Some knocks are buckets

| 39 Ay &1 9= P wife far mu Fy=) ik fAspul & IR A 98! 8:

DY

PO TR qIeE] &

Taft F7p TR &

e

I. O difecdi URR §

II. $O Ai® difeedi 8

1. only conclusion Il follows / Fad sy || WW%

2. only conclusion | follows / Had ey | G@TUTW%

3. neither conclusion | nor conclusion Il follows /qfﬂﬁml \”rﬁT:ffﬁﬁEb_ﬁ I WW%

4, both conclusion | and Il follows /ﬁ'@ﬂfl 3Rl atﬁ &wm%

Correct Answer :-

e only conclusion | follows / Had fp | HWW%



31) Select the option that is true about the Statements and Conclusions given:

Statements:
Some tanners are artists
Some artists are pickpockets

Conclusions:
I. Some tanners are pickpockets
II. Some pickpockets are tanners

1 39 fapeu &1 94 Hifore Sife R e sy IR Frepul FaR AT -
DYA:

. PO SR AGHAL §
Il T ATPAT SR &

1. only conclusion Il follows / Had FHY || WW%

2. only conclusion | follows / Had s | WW%

3. neither conclusion | nor conclusion Il follows /qﬁﬁ'&?ﬂfl ﬁ?qﬁﬁw I &WUTW%
4, both conclusion | and Il follows /ﬁmv_ﬁfl GaT Il ?ﬂ:h &Waﬂﬁ%

Correct Answer :-

e neither conclusion | nor conclusion Il follows /:f_sbfﬁmﬂf I GhT:TEﬁﬁW I &WW%
32) Find the odd one out: / T% faud F1d FifeTu:

7, 13, 25, 49, 98

1.25

2. 49

3. 98

4.13

Correct Answer :-

33) Choose the number which is different from others in the group: / 39 ST HT T4 Gy
e A e A fiT 8

6,7,9,12

1.9



2.7

3.12

4.6

Correct Answer :-

e 7
34) One of the heritage sites according to UNESCO is the . | D! & IR foRmaa
=l & | T gl

1. Kesavnath Temple at Ujjain / IoH H HeRATY HieR
2. Bhojapur / ‘J-ﬁGfER

3. Jahaz Mahal at Mandu / 1§ & S8TS H8d

4. Khajuraho Monuments / @T{R'I?f HRP

Correct Answer :-

» Khajuraho Monuments / @T{RI_E?T WHRD

35) The series given below contains a sequence of numbers. Identify the incorrect

combination: / & & ¥ g A, G@me BT UF U IUFRIG &1 Tad TS Ugar=e:
15, 30, 50, 60, 85

1. 85

2.50

3. 30

4. 60

Correct Answer :-

36) If ABCDEFis coded ZYXWVU, then how is MERCEDES coded? ? | Tf¢ ABCDEF &\
ZYXWWU R Sifsd a1 STaT 8, 9 MERCEDES & 9 ®ifsd far s

1. IVNXVHVYW
2. XNVIWVHV
3. WHVVNXIV

4. NVIXVWVH

Correct Answer :-



e NVIXYWVH

37) If MUSICis coded SZWLE, then how is CANOE coded? / af¢ MUSIC & SZWLEQ
Pifed far &irdT 8, 9 CANOE &) &4 Pifed fear s

1. LISWER
2. FGSEL
3. IFRRG

4. RGFIS

Correct Answer :-
e IFRRG

38) The series given below contains a sequence of numbers. Identify the incorrect combination: / = ?ﬁ

TS yaan H, Gl &1 U HH IR § | Tad HaIei- Ugar=e :
0,3, 8, 15, 24, 36

1.24

2. 15

3.3

4. 36

Correct Answer :-

e 36

39) In a certain code language, kom nad lis means large circus tent, tif nok nad means
tent is pitched, and mar rit tif means she is crying. Which is the word for pitched in that
code language? /U® W IS TN H, kom nad lis &1 AY large circus tent; tif nok nad &1
3 tent is pitched AT mar rit tif d1 3l ¥ she is crying giar %I Bl PIs UTUT H pitched & ﬁl‘t{
5 2o &1 gTAHTA fHaT T B2

1. nok
2. tif
3. nad

4. kom

Correct Answer :-

e nok



40) In a certain code language, /i eb eep means roses are blue, kis eeh means red flowers,
eep tim eeh means flowers are vegetables. Which is the word for roses in that code
language? /Tdh WA PIS UTST 'ef, li eb eep &1 3 roses are blue; kis eeh 1 3 red
flowers dUT eep tim eeh BT A ¥ flowers are vegetablesﬁ?ﬁ %I ?d IS HIUT H roses b ﬁIT{
v TIsg &1 SxauTa far T 32

1.0
2. eep

3.eb
4. cannot be determined / [T/ 73?79)777' off Yol ?

Correct Answer :-

« cannot be determined / FEIRT 73? f5gr ST gHar ?

Topic:- Mental Ability and Mental Aptitude

1)
In the sequence shown below, which figure comes next? / @il T&3r 81 &H #, Hell
i i HT A

~L

Correct Answer :-



2)
Fj -
Which of the following is between %cma’_—i | EATiET 7 O &l %aﬂr ; & HET

16

25

26

0
4,

Correct Answer :-

21
29
3)

If the following two squares shown below overlap, which one of the following options

is formed? / afg &Fa &) a9 sfdcmiua g &, O e & ¥ &i9 91 vF Aeeq a=ar &7
C A




A
>

D
2.

(« A

£~
3.

« A
| N
4,

Correct Answer :-

4)
In the sequence shown below, which figure comes next? / =il f&&r T8 &8 #, 3elr
Rl sl € 3meir?

O A [O] | 2

i 1 w

S

(+




Correct Answer :-

5) The population of a town increased from 2,60,000 to 3,32,800. The percentage of population per
year is: / U XX B STEST 2,60,000 H TSP 3,32,800 B T3 | Ufer af S &1

1. 27%
2.25%
3. 28%

4. 26%

Correct Answer :-

e 28%

6) When Krishna traveled 25 km, he found that 3/5t of his journey was still left. What was the
length of the whole journey? / I o1F 25 fHH} ATHAT HX AT 8, 99 I T4 gl & b ST AT
BT 3/5 YT 313t oft [rw 31 wyof g &) avars w2

?2% km / 72 %ﬁw’i‘r

1. -
1 1
92— km / 92 ;ﬁm’r
2. prey pra
1 sl
62— km / 62— =T
2 2
3.

82% kmiszéﬁ?ﬁr

- -



Correct Answer :-

62% km / széﬁa-ﬁ

i

7) A man bought apples at Rs. 25 for 10 and sold them at Rs. 25 per dozen. Find his gain or loss

percent. / T Y 25 U H 10 AT WGAT 8 3NR I8 25 TUA Uid goi- 99Tl § | SHDT AT a1
HIERIGRGRIGE R

2
4Z 9%
3
1.
2
16 %
>
2,
2
2Z%
3.
2
8= %
b
4.

Correct Answer :-

8) What is the product of the difference between the smallest 4-digit number and the largest 3-digit
number and the sum of the largest 2-digit number and the smallest 3-digit number? / TYdH 4 3o
HEAT 3R HEWH 3 3P G F 919 & 3R U9 HewH 2 DI HET 3R TYaH 3 3P GE&I
& TN BT UGS 7 3?

1. 199

2. 9999

3. 9000

4. 10000

Correct Answer :-
e 199
9) Value of 312 /0.002 is / 312 / 0.002 T HIH %:

1. 15600



2. 156000
3. 156

4. 155500

Correct Answer :-
e 156000

10) Twenty lamps can be lighted for 6 hr a day for 20 days at a cost of Rs. 100. How much would be

the cost of lighting 40 lamps, 8 hr for 12 days? / 100 IUY Bt AN R 20 f&1 & forw 6 ue ufa feq
Bt &R A G A7 yH1RIa fo5d o1 T 21 12 f & g 8 92 3 40 AT B UG H3A Bt
T fpat gRit

1. Rs. 150 / 150 30T
2. Rs. 160 / 160 ST
3. Rs. 180/ 180 ST

4. Rs. 140 / 140 3T

Correct Answer :-
« Rs. 160/ 160 308

11) If A is 10 % more than B, then how much is B less than A? /'CI'% A,B ¥ 10 gl sifte % Gl

B, A ¥ foa=r &0 g2
1. 12.5%

2.12.14 %

3.9.09 %

4. 10 %

Correct Answer :-

12) If a baker's dozen is 13, how much would be five dozens of baker's dozens? / gfe Udh B BT

G913 §, O 9% & ol & Uid gt fbas ghI?
1. 845
2. 936
3. 720

4. 780

Correct Answer :-



13) If each side of a square increases 3 times, then the area of the square increases by: / 'Clﬁ Waﬁ

P YA YWY 3 A1 9¢ STl 8, a1 af BT &b CCACIGIE
1. 12 times / 12 7T

2.9 times / 9 [T

3. 3 times / 3 AT

4, 6 times / 6 [T

Correct Answer :-
e 9times/9 [l

14) Divide 960 into 2 parts such that one exceeds the other by 26. / 960 P12 wﬁﬁwm

fautfora & fos g W, gR 9 26 P 7T

1. 534, 426

2. None of the above / STIGd & I Gb\lir:lﬁ
3. 474,486

4. 467, 493

Correct Answer :-

e 467,493

15) Amit, a furniture seller, plans to sell a table for Rs. 720. If he gained 20%, then what was the cost

price of the table?/mﬁﬁ%wmma 7203@ﬁ@ﬁﬁﬁaﬂﬁaﬁmm
2131 3T 20% ATY U fan 3, dY A 1 B9 Yo T AT

1. Rs. 720/ 720 4%
2. Rs. 575/ 575 300
3. Rs. 850 / 850 ST

4. Rs. 600 / 600 STY

Correct Answer :-

« Rs. 600/ 600 30T

16) A father is four times as old as his son today. After 24 years, the ratio of ages of son and father
will be 1:3. Find the present age of the son. / 3TST & f&=T U® fUaT 314 T A TR AT 9T 21 24 TUF
e O 3R AT 1 3g HT Ut 1:3 ERIT I T Y I a1 Mg F1d 3 |



1. 48
2.24
3.50

4. 22

Correct Answer :-
e 48

17) A team has won 16 matches and lost in 5 of them. If these matches represent 70 % of the total
number of matches to be played, how many more matches should the team win, in order to have a

record of 80 % wins? / U & 7 16 AT SiId ¥ 5 N1 A T T Wk T Ft Tl BT 70% Wi
YA ¢ dl & DI 3R fpaq 3rfire A9 siiaw arfee forra f 80% sfid &1 Reis gt o2

1.4
2.6
3.5

4.8

Correct Answer :-

18) In a gathering of 75 people, 35 people can speak English and 50 people can speak Hindi. At the
most, how many people can speak both the languages? / 75 i Bl Uh T ﬁ, 35 @NT SRISH S

THd 8 3R 50 AN =) it T &1 Siftrpan fbam @t a1 wrrei &1 did aod 82
1. 10
2. 15
3.25

4. 35

Correct Answer :-

19) A and B can do a piece of work in 30 days, while B and C can do the same in 24 days and C and
A in 20 days. They all work together for 12 days until A and C leave. How many more days will it

take for B to finish thework?/AGﬁ?waﬁwﬁ:ﬁﬁwmmﬁmBsﬁ?C@
24 f&AT & T R THa &, T € 3R A 3 20 & & W = Tvd €1 3 9t vy 12 foAi o
ﬁw&%’,mw%Asﬁ?c@sﬂﬁ%ﬁl BT B FHIT P31 & 78 B o1 b= MR &=

1. 24 days / 24 &7



2. 22 days /22 f&A
3. 16 days / 16 fad

4. 20 days /20 fa

Correct Answer :-
« 20 days /20 faT

20) The sum of the ages of a father and son is 45 years. Five years ago, the product of their ages was
four times the father's age at that time. The present age of father and son is: / §h e sk L E] 4|
3TY FT AT 45 T4 g | Ui I Ugd, IAP! 3Tg FT UG 39 G904 fUar $t 3y A TR A1
3t 7| T iR 1 @1 a9 3y &

1. 34,11
2.40,5
3.36,9

4. 35,10

Correct Answer :-

21) The sum of the ages of a father and son is 45 years. Five years ago, the product of their ages was
four times the father's age at that time. The present age of father and son / ¥ foar ik g3 G| S
BT AN 45 T4 3 | Ui I9 UG, IADT STY FT UG 39 G0 FUar Bt 3y &1 IR A7 411 fUan
3R I Ft g9 MY B

1. 34,11
2.40,5
3.36,9

4. 35,10

Correct Answer :-

22) The average weight of a class of 40 students is 55kg. If the weight of the teacher is also included
then the average weight of the class becomes 56 kg. Find the weight of the teacher. / Th D ET F 40
faenfiai o1 e o 55 foa 81 afe Rrere &1 aor W SO i 6t ST 8, @ wan @
3 o 56 fo9 81 i 71| g o1 I J1a B

1. 90 kg. / 90 f3rm
2. 96 kg. / 96 T

3. 98 kg. / 98 fopurt



4. 95 kg. / 95 foburt

Correct Answer :-

.« 96 kg. /96 T3

23) A train covers a distance of 10 km in 12 min. If its speed is decreased by 10 km/h, then the time
taken by the train to cover the same distance will be: / T YerTTg! 12 fie # 10 fodft @5t §'\ﬁ aq
FRdl 81 afe saat afd 10 frdi/der t @7 3 &0 3 wrd! 8, 9t 3 gt B a9 F ° IamSt
&1 fera wan W A g

1. 16 min / 16 fFE
2. 18 min / 18 fiFE
3. 14 min/ 14 fiFE
4. 15 min/ 15 & E

Correct Answer :-

e 15min/ 15 A

24) A train passes a platform 90 m long in 30 seconds and a man standing on the platform in 15

seconds. What is the speed of the train? /WW 90 Hex & WewH &I 30 AHUS § UR Bl
2 3R WewiH IR TS TF [ B 15 YHUS W UR Hdl 3 | Yerms! 3t 1fd = 82

1. 5m/s / 5 HIC/ADHUS
2.3 m/s / 3 HICAHUS
3. 6 m/s / 6 HIC/AHUS
4.2 m/s / 2 MeAHTS

Correct Answer :-

e 6m/s/6HYIDHUS

25) A train crosses a man in 5 sec and a bridge of length 300 m in 20 sec. Find the speed and length

of the train. / TP YOS TP =Y B 5 APHUS H UR el 8 3R 300 Hiex aaTs ard T qal Hi
20 APUS T IR Hcll 81 YS! B i 3R TS 1 He |

1. 25 m/s, 150 m/ 25 HIC/AH TS, 150 HIcX
2. 25 m/s, 100 m / 25 HIERAHUE, 100 HicR
3. 20 m/s, 150 m / 20 HIERAHTE, 150 HleR
4. 20 m/s, 100 m / 20 HEIAHTS, 100 Hex

Correct Answer :-

« 20m/s, 100 m / 20 HeY/AHTS, 100 Hiex



26) Shanthi and Rani start a business investing Rs. 85,000 and Rs. 15,000, respectively. In what ratio
should the profit be divided between them after two years? / =Tifer 3R I A ST 85,000 I 3R
15,000 TUY BT FA% HR T A YR fHaT| SF auf & UTd 34 g1 & o food srqurd #
oy 1 favfora farar s anfee?

1.17:3
2.17:23
3.3:4

4.15:23

Correct Answer :-

27) A book seller offers a discount of 10%. Find the price paid by the customer for a book, which is

marked as Rs. 62./ T T&Ie fIshdT 10% 1 FT UG Bl ¢ 1 IH T&IP o ¢ U1ee gR1
YT 5T a1 Yo 91d ®, o W siferd ged 62 U B

1. Rs. 50.25 / 50.25 30
2. Rs. 55.80 / 55.80 ¥UY
3. Rs. 65.50 / 65.50 ¥TY

4. Rs. 60.75 / 60.75 30T

Correct Answer :-

« Rs. 55.80/55.80 SO

28) Which one of the following four addresses is NOT EXACTLY same as the one given below? / = ﬁiz‘r

IR TG F AR AR @S Ste T ST AT T8 22

Alfons
Ochsenweg 54,

Melle, 49324
(i) Alfons
Ochsenweg 54,

Melle, 49324

(ii) Altons



Ochsenweg 54,

Melle, 49324

(iii) Alfons
Ochsenweg 54,

Melle, 49324

(iv) Alfons
Ochsenweg 54,
Melle, 49324

1. iii

29) The series given below contains a sequence of alphabets and numbers. Identify the incorrect

combination: /T'ﬁ%a'ﬂ% mﬁ, H&ﬁéﬁ?WGﬁWWWﬁﬁﬁ%l T S Yganf-g:
i. bftrb5321ftrbb

ii. bftrb5321ftrbb

iii. bftrd5321ftrbb

iv. bftrb5321ftrbb

1. iii

30) Find the average. / 3{9d JTaX &1

66,72, 78, 84, 90 & 96



1. 78
2. 80
3. 81
4.79

Correct Answer :-

e 81

Topic:- Science and Simple Arithmetic

1) Simplify: V1849 -v841/ /18.49 - V841 7 war Frr

1.2.6
2.2.8
3.12

4. 14

Correct Answer :-

2)
In the given figure, the arms of two angles are parallel. f £ DEF =34°, then £ABC= i few aw

forr 3, a1 FIUT &1 ST FAAIR G| MG ~DEF=34° §.dl LABC=___|

N
/

E— o

1. 27°
2.17°
3. 34°

4. 68°

Correct Answer :-

. 34°



3)

¥a =2 x ¥2 x V49, then the value of 'a'is: /1 ¥a =2 x ¥2 x V49, ar
'a’ &l HIA B

1. 196

2.294

3. 648

4. 784

Correct Answer :-

o 784

4)
In the given figure, 'O’ is the center of the circle and if ZADC =110° then £CAB= /e 9w

= #, '0' gcd #1 Few & 3N IR 2ADC=110° & A 2CAB= |

Wl
—,

1. 30°
2.10°
3.20°

4. 55°

Correct Answer :-
e 20°

5) Land pollution in which land is unsuitable for farming due to high salt content is known as: /

Y-yguur fored =1 AqurITET & HRUT Bl & g yfy srguge g 2, 98 weard ¢
1. Desertification / TORJAIHRUT

2. Salinization / <I/dU[q

3. Carbonization / BTEIHRUT

4, Oxygenation / NICNINE]



Correct Answer :-

e Salinization / ddU[

6) Vectors are: / Hﬁ"ﬂ%

1. Animals which carry the infecting agents from sick person to healthy person /qﬂﬁhﬂm 3t

Pl SRR TG I WY AfRT d A 1 &
2. Micro-organisms that cause disease / J&H Siiq [ BRUT ﬁ"TEﬁ?f %
3. Persons suffering from a disease / T tﬁ%ﬁ 1K
4. Plants suffering from a disease /3T @ftﬂ'%ﬁ g

Correct Answer :-

« Animals which carry the infecting agents from sick person to healthy person /q'%lﬁﬁﬂaﬁ—&lﬁ Cﬁ‘flﬁlﬁ]c
T SRR G | T T Ib o 5 &

7) Find the value of 'x', if 50x = 6482 - 2482, / f¢ 50x = 6482 - 248’ B, A 'x' HT UM A B
1. 6980
2. 7168
3. 6880

4. 7190

Correct Answer :-
e 7168

8) Find the difference between compound interest and simple interest on a sum of Rs. 5000 at 10%
per annum for 3 years. / 5000 ¥UY P Y-RTRI TR 3 Il & AT 10% aTE =TS B} &3 U JTYRYT T
TUT Tsh g STl W 3felR J1d B

1.Rs. 175/175 30
2. Rs. 130/ 130 34
3. Rs. 140/ 140 34T

4, Rs. 155/155 30

Correct Answer :-

e Rs. 155/1553W

9) In our home, the electrical appliances are connected ./ AR TR ﬁ, ﬁ’g’ﬂ'ﬁf SUDPRT

A CA



1. in parallel with the source only if it is a high power appliance / gfe gg I Qfdd aTell IUHRUT g ol
hacl Hld J JHIR HH H

2. in series with the source / F1d § 907 A
3. some in series and some in parallel with the source / A o DS goft 8 o quT P JHIR HH o

4. in parallel with the source / JId ¥ JHIGR HH |

Correct Answer :-

« in parallel with the source / Iid ¥ JHIAY HH T

10) Combustion that takes place at high speed is called ./ qed I S Ifd R @?IT%, 3
CaIREIGIE]

1. Spontaneous burning / ¥dd: Gg
2. Explosion / faepie
3. Incomplete burning / S‘HUT GG

4. Rapid combustion / gd G&-

Correct Answer :-

 Rapid combustion / gd ag-

11) Sky appears blue due to: / SITHIRA 9P R e fears dar 3
1. Dispersion / fqwiv

2. Scattering / LA

3. Refraction / 3Tdc

4. Reflection / TR

Correct Answer :-

e Scattering / D10

12) Red Data book is the source book which keeps a record of: / €IT¢T SICT g Udh i Y ?
fores g7e1 Rl vt e &:

1. All the migratory birds /gt vrardt uferay

2. All the wild life sanctuaries / S+t =7 Siiq 3{HaRUAl
3. All the endemic species / gt =i Sfaa

4, All the endangered species / g [SUsIe PEIGE]]

Correct Answer :-



« All the endangered species / Tt quaur™g P SHGEI]

13) My age is four times the difference of my age after six years and my age 2 years ago. How old am

1? /38 3y : 9 a1g U1 2 a9 gd & SR AR T 81 A g R B2
1.24
2.28
3.36

4. 32

Correct Answer :-

14) A certain data is presented in the form of a frequency distribution using same class size. If the
class mark of the first class interval is 70, and the class size is 20, then the upper limit of the seventh

class interval is: / FIRId 3PS TIRARGT e & U § UM T ATHR HT IUTNT Hd g€ g fHa
WTd €1 afe ugd it SiaRTe &1 vl I 70 ©, 3NR ¥ PR 20 &, & JTda a¥f SfaRTd Bl SHust JwT gift:

1. 160
2. 220
3. 200

4. 140

Correct Answer :-
e 200

15) ABCD is a rhombus. If ZBCA = 66°, then 2CAD = ./ ABCD U% Guagys 81 af¢ LBCA =
66° 8, df LCAD = |

1. 30°
2. 66°
3.24°

4. 33°

Correct Answer :-

e 66°

16) The colour of Phenolphthalein in acidic and basic solutions are , respectively. / 3

a1 & faaa § wiTawifers &1 37 B gargl



1. red and blue /Wazﬂ:ﬂﬁ[
2. pink and colourless / W ayr ?Tl_sﬂ:f
3. blue and red / Sl YT AT
4. colourless and pink / TTI—E?FI aur ‘Iﬁ[&ﬁ

Correct Answer :-

« colourless and pink / T8I dYT TcTall

17) The volume of a cuboid is 756cm>. If the area of the base is 108cm2, then its height is: / Th YATH
BT TG 756 T AL, 71 AfE SMUR FT &% 108 T A, 3, A ISP HaTs GHA:

1. 9cm /9 I,
2. 6cm / 6 9T,
3. 7cm /7 9.

4, 11cm /11 9.

Correct Answer :-

« 7cm /794

18) The term ‘Black Gold’ is used for: / &G HTAT T §HP 1T Y g &:
1. Coal / BT

2. Graphite / a'th—lg_(f

3. Petroleum / ﬂ'cjﬁw

4. Carbon / PT&

Correct Answer :-

 Petroleum / ﬂaﬁﬂm

19) By selling a chair for Rs. 360, a shopkeeper loses 10% of his cost. If he sells it for Rs. 420, then
his profit percent is: / T% HHI B 3607 T 981 W, TP PSR B! IUD! ARTA BT 10% T il 21
gfe 98 S 420 TUA F 7T 3 A ITBT ATY Ufrrd gR:

1. 3%
2. 8%
3.5%

4. 6%

Correct Answer :-



%0) The muscles found on arms and legs are: / ‘ﬁTrITGﬁ TYT AR A 13I'I'5‘f 4 qrelt Ao iR ﬁl’l:l'eﬂ'cﬁ

1. Unstriated muscles / Wﬁﬁﬁ'—‘?ﬁ
2. Smooth muscles / fera-t URI

3. Voluntary muscles /mﬁ‘\’ﬂ

4. Involuntary muscles / &ﬁﬁﬂﬁaﬁ

Correct Answer :-

* Voluntary muscles/meﬂlﬂ

21) Cortex is one type of: / dePC UDh YPIR PI:
1. Meristematic tissue /ﬁ‘l-lw $Hddh %I

2. Ground tissue / HRU[-\GHdh %’I

3. Vascular tissue / faef S s %I

4., Epidermal tissue /GT%EF[ $Hddh %I

Correct Answer :-

e Ground tissue / HIU-Gdh %l

22) The area of a trapezium is 495cm? and its height is 15cm. If one of the parallel sides
is 26cm longer than the other, then the longer parallel side is: / T®H JHdd BT ATEE 495
it Ift. B ofR Suat Sarg 15 It 71 afe wwiaR yonsh ¥ | e Yo ol A 26 A @« B, ot
wdt arell YOI B |ars gt

1. 32cm /32 TH.
2. 46¢cm / 46 I
3. 35¢m /35 9.

4, 24cm /24 THL,

Correct Answer :-

o 46cm /46 THY,

23) PQRS is a rectangle and the diagonal PR and QS meet at 'O'. If PR =( x + 6) and OQ =
17cm, then 'x' = . / PQRS T® ATId § 3R fawuf PR a1 Qs f3g '0' W ferd &1 afe PR
=(x+6) 3R 0Q =179 g, @ 'x' = |



1. 1lcm/ 1194t
2. 29cm / 293w
3. 23cm / 2399

4. 28cm / 289HY

Correct Answer :-

e 28cm /28Tt

24) pjvide x3 - 3x2 -13x +15 by (x - 5) and find the quotient. / x3 - 3x2 -13x +15 &I (x -
5) & HIT € 3R HIThS J1d P3|

1.x2-3x+3
2.x%-3x+2
3.x%-x+2

4, x2+2x -3
Correct Answer :-

o« x2+2x-3

25) A non-metal with high melting and boiling point is . | A AP 3R PYATP &
Y TH YT gl

1. chlorine / FARIA

2. hydrogen / Eléglﬁl'_‘l
3. bromine / STHIA

4, graphite/aq’>|$€

Correct Answer :-

e graphite /a'Cb"IE_C'

26) Which of the following is a monocotyledonous plant? / Ffaddsaan Udhdl CISLEIRIDI %?

1. Ground nut/'li"l'qrvﬂ

2. Corn / HdDI

3. Bengal gram / 9T
4. Sun flower / Wﬁ@

Correct Answer :-



27) Which one of the features mentioned below about decomposers is not applicable to

decomposers?/m%aﬁﬁ:ﬂ%ﬁﬂ%mﬁﬁﬁﬁqﬁmwwqﬁé?

1. They transfer energy to the next trophic level in the food chain. A RGIE| WT'E[ &mﬁ@www
ol RITFART HRd g

2. Decomposers are also scavengers and they clean the earth. /3{UdYcd Wﬁlﬁaﬁ% Sﬁ?%rqzaﬁﬁ
T R g

3. They help in recycling nutrients. /éﬁwgﬁaﬁmﬁwmﬁél
4. They are also called as saprophytes or reducers. / I H?‘Tﬁﬁaﬁ gl dYhRh 1 el S %I

Correct Answer :-

e They transfer energy to the next trophic level in the food chain. /d T %RQFIT H Wtﬁm IAR IR
Sl RN B B

28) The structures inside a cell can be seen clearly with: / BIfRHT & Wa? BT TEATE TS
AT A WE U A & o1 el 8

1. Light microscope /Wﬁfﬂ_{?ﬁ

2. Compound microscope /ﬂﬂaﬂﬁ&ﬂm
3. Hand Iens/%_'s'a'*'\q
4. Electron microscope /“&'ﬁﬂi’hﬁ@?‘\’ﬁ

Correct Answer :-

« Electron microscope / sﬁa%fﬂ ﬁ&ﬂ?&’ﬁ

29) 0.0000000000425 in the standard form is: / HTI® &4 & 0.0000000000425 ERT:
1.4.25x 1010

2.42.5x 1010

3.425x 1071

4,425x 1071

Correct Answer :-

e 425x 107!

30) From the group of substances mentioned below, identify two substances that are not
required for photosynthesis. Solar energy , oxygen, water, chemical energy, CO5 , chlorophyli



/ = few 71u el & TyE |, oY ugrdf &1 ugHH B W) USRI HRAWl & Y sravge 8 &1 TR
Sul, STeiie, 9d, IS SHeil, CO,, FARITPA

1. O,, chemical energy / O,, S Sl
2. CO,, chemical energy / CO, , RS Sl

3. CO,, water / CO,, SIcT

4. Water , 02 / Sl , 02

Correct Answer :-

» O,, chemical energy / O,, RS &



